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Beb’ntiﬂc notation.
: .“ Very large number, but it will work nicely
1.24" This is not the same number, but (1.24

| for an example. To convert this to scientific notation, | first
notation, 124 is written as 1.24 x 402,

)(100) = 124 s and 100 = 102 Then, in scientific

Actually, converting between “regular® notation and scienti i
& notation and s
allyou really needtodois @ A0, soientific not§t|o§ 2 Qven simpier/than | just showed; because

Write ir decimal no
Since the exponent
gecimal point ta the

nove the decimal poi
when | count off the p!

wmber, so I'll need to move the
exponenton 10 1s *12° I'il need to
twelve places over. | make lhttle loops

fill in the loops with zeroes:

59 ,A .\.an ,O’In

In other worgs, the num

v Convert £3,000,000 ¢ &
This is a large number, sq eresting"” digit in this numberisthe ¢~ ) |
leading 9, so that's where ere itis to right after the 9, the decimal @ o |
point wall need to move se AJO(C-S Pq—a—b l 2.) be a positive 7, and the answer is 8.3
x 407

Scientific Notation and Standard Form (Decimal Notation} Practice

e in standard form.

oxiw® YY0OOO 2)4.5x 10 45:000- nesx10t @8 O’OQO {
? o000d :

extr _ 14a O 5)8x10° 8}000 6)632x10 (3200

‘e each number in scientific notgtion. IT=) ‘I :

55.000,000_ 4. 65X 10 || ) 98.000.000,000 4.8 X100 g)373000 .3_7_3__Q_

697,000,000, ooo_(_n_jﬂ_fg 11) 54,000, ooo_,ﬂ_&[_’ii_o__ 12)24,340,000_2.939 2/O “IO

cientific notation and standard form. Round
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your calculator to evaluate the following. Write the answer in s

iree significant di its: Te ) andard form
——3—’?‘9%93%10 ?:3%100000000

1.5 * |§HOOP0OPOCEOSPC0
: 2.8 w/o Llooowooww‘
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